BATH SCREEN INSTALLATION GUIDE WALL PLUGS x3

30mm x 4mm SCREWS C/SUNK x3

PACKING LIST:

o GLASS SCREEN PANEL ASSEMBLY | x 1 10mm x 4mm SCREWS C/SUNK x3
(Please carefully check the packing list to
. ADJUSTABLE WALL CHANNEL x1 INNER SCREW SUPPORT CUP x3
ensure that all parts are included before
proceeding with the assemb]y)_ BOTTOM WATER SEAL x1 DECORATIVE SCREW COVER CAP x3
WALL PLUGS x3 30mm SCREWS x3 GLASS BATH SCREEN x1 VIEW FROM INSIDE OF THE SCREEN

g
T

o

© ]D STEP 15 - BOTTOM SEAL FITTING

AN

IT IS RECOMMENDED THAT A SMALL
BEAD OF SILICONE IS APPLIED FROM

THE TOP EDGE OF THE SEAL ON THE

INSIDE APPROX 150mm IN AN
‘ UPWARDS DIRECTION.

©=] C/L %

OPTIONAL RAIL x1 <=

AN

AN\
|

AN
4

CUT THE BOTTOM DOOR SEAL ON
AN ANGLE SO THAT IT SITS TIGHT UP
AGAINST THE BARREL HINGE. THEN
TRIM TO LENGTH ON THE OPEN

AN

SIDE OF THE SCREEN.
o|@=(D

WALL CHANNEL x1 BOTTOM WATER SEAL x1

—100—!

ISTALLATION STEPS:

1. Insert the Screen Side Pillar into the Wall Channel.

2. When the Bath Screen has been aligned, mark the position of the Wall Channel on the wall. Remove the Screen, re-align
the Wall Channel and mark the Wall Channel screw hole positions on the wall.

3. Using a 4mm Masonary Drill Bit, Drill 3 x 35mm deep holes in the marked screw positions on the wall.

4. Insert the 3 x Wall Plugs into the holes. Using a hammer knock them in until they are flush with the wall.

5. Attach the Adjustable Wall Channel to the wall using 3 x 30mm Screws supplied.

6. Insert the Side Pillar into the Wall Channel.

7. Adjust the position of the Bath Screen Assembly until it is level (Parallel) with the bath.

8. From inside of the Bath Screen Assembly, make a mark in the Wall Channel approx' 100mm from the Top.Note: The Wall
Channel Design, allows for Shower Screens to be adjusted so that they can be used on wall surfaces that are not vertical.
When marking the hole position, please check to ensure that the drilled hole will go through both the Wall Channel and
the Side Pillar.

9. Using a 3.2mm Diam' HS Twist Drill bit, drill 1 Hole through the upper marked hole position. The hole must be drilled
through the Wall Channel & Side Pillar until it reaches the centre. DO NOT DRILL THROUGH BOTH SIDES

10. Secure the upper section of the Wall Channel to Side Pillar by using 1 x Inner Screw Support Cup and 1 x 10mm screw.
(Do Not Over Tighten)

11. Ensuring that the Bath Screen is still alighed as required, mark the position of the lower bath Screen Support Screw
position approx' 100mm from the bottom of the Wall Channel.

12. Repeat Items 9 & 10 for lower Bath Screen Support Screw position.

13. Mark the centre support screw position approx' equal distance between Top & Bottom Screws and Repeat steps 9 & 10.
14. Fit the Screw Caps x 3 onto the Inner Screw Support Cups.

15. Fit the Bottom Water Seal x 1 and assemble to lower edge of Screen (See detailed instruction above)

16. It is recommended that a bead of silicone is run down the length of the wall channel and around the screen barrel on
the outside of the bath Screen.

17. If a rail is to be fitted, please ensure that it is fitted to the outside of the Bath Screen only.




BATH SCREEN with FIXED PANEL INSTALLATION GUIDE

BATH SCREEN PANELASSEMBLY | x 1 WALL PLUGS x4
PACKING LIST: o ADJUSTABLE WALL CHANNEL x1 30mm x 4mm SCREWS C/SUNK x4
(Please carefully check the packing list to ensure 1 3
that all parts are included before proceeding with BOTTOM WATER SEAL X 10mm x 4mm SCREWS C/SUNK X
the assembly). BOTTOM WATER SEAL (200mm) | x1 INNER SCREW SUPPORT CUP x3
ALLEN KEY x1 DECORATIVE SCREW COVER CAP | x 3
SUPPORT BAR WALL FIXING SUPPORT BAR PILLAR FIXING
x1 SUPPORT BAR x1 x1

GLASS BATH SCREEN x1
SUPPORT BAR GRUB SCREW x2 SCREW SUPPORT CUPS x3

=0 = ———[
[ A 3

u ] R 10mm SCREWS x3
7 a2 1 x
e— &
o
-
\ o ,..,@.-.M‘I]_'
« COVER CAPS x3
— [ ]
OPTIONAL RAIL x1
/)
/) «
|-©-«=g-0-C/L
|| | |
VIEW FROM THE BATH SIDE OF THE SCREEN
WALL PLUGS x3 30mm SCREWS x4 BOTTOM WATER SEAL (200) x1 BOTTOM WATER SEAL (730) x1

WALL CHANNEL x1

INSTALLATION STEPS:

1. Fit the Fixed Screen water seal (200mm) by measuring the glass and cutting the seal to length ensuring a tight fit to prevent water leaks. Fit the seal to lower
edge of Fixed Screen.

2. The Top Bar Assembly (x1) contains (x1) Top Bar & (x2) Fixings. The fixings are fastened to the Top Bar with Grub Screws. Loosen these so that the fixings can
be removed.

Remove pre-assembled 40mm screw from Top Hinge. Fit the Top Bar Fixing using the removed screw, into the top edge of the Fixed Panel (Position A)

3. Insert the Bath Screen Side Pillar into the Wall Channel.

4. When the Bath Screen has been aligned, mark the position of the Wall Channel on the wall. Remove the Screen, realign the Wall Channel and mark the Wall
Channel screw hole positions on the wall.

5. Using a 4mm masonry drill bit, Drill 3 x 35mm deep holes in the marked Screw positions on the wall.

6. Insert the 3 x Wall Plugs into the holes, using a hammer to knock them in until they are flush with the wall.

7. Attach the Adjustable Wall Channel to the wall using 3 x 30mm Screws.

8. Insert the Side Pillar into the Wall Channel.

9. Adjust the position of the Bath Screen Assembly until it is Level (Parallel) with the bath.

10. From Inside of the Bath Screen Assembly, make a mark in the Wall Channel approx' 100mm from the Top. Note: The Wall Channel design, allows for
Shower Screens to be adjusted so that they can be used on wall surfaces that are not vertical. When marking the hole position, please check to ensure that the
drilled hole will go through both the Wall Channel and the Side Pillar.

11. Using a 3.2mm diam' HS twist drill bit, drill 1 Hole through the upper marked hole position. The hole must be drilled through the Wall Channel & Side Pillar
until it reaches the centre. DO NOT DRILL THROUGH BOTH SIDES

12. Secure the upper section of the Wall Channel to Side Pillar by using 1 x Inner Screw Support Cup and 1 x 10mm Screw. DO NOT OVER TIGHTEN

13. Ensuring that the Bath Screen is still aligned as required, mark the position of the lower bath screen screw position approx' 100mm from the bottom of the
Wall Channel.

14. Repeat steps 11 & 12 for lower bath screen screw position.

15. Mark the centre support screw position equally distanced between Top & Bottom Screws and Repeat steps 11 & 12.

16. Assemble the screw covers x3 onto the inner screw support cups.

17. Fit the Bottom Water Seal (See Fig 15 on opposite page) and fit to lower edge of Screen.

18. Measure the required length of the Top Bar and cut to length. Note: Cut the open end of the bar only. The forward end of the bar is already pre-drilled, so
the length of the bar needs to be measured from this point.

19. Mark the position of the Top Bar location to the wall. Using a 4mm Masonry Drill Bit, Drill 1 x 35mm deep hole in the marked screw positions on the wall.
20. Insert 1 x wall plug into the hole and using a hammer knock it in until it is flush with the wall.

21. Attach the 2nd Top Bar Fixing to the Wall (Position B) using a 30mm screw.

22. Locate the Top Bar into the two previously assembled Top Bar Fixing Brackets. Insert a grub screw into Top Bar Fixing (A) and then mark the position of the
2nd hole in Fixing (B) through the grub screw hole. Remove the bar and drill a clearance hole in the position marked on the bar.

Note: Only drill through the first wall thickness of the Top Bar.

23. When the 2nd hole has been drilled in the Top Bar, relocate it to the two previously assembled Top Bar Fixing Brackets. Secure the Top Bar using the
supplied Allen Key to tighten the Grub Screws in each of the Top Bar Fixings, these can be accessed from the bath side of the screen.




